VSWR

10m

14 21 28 MHz
3

7 72

3 65

0 45

12 Kg
60
13
13

NAGARA  DENSHI

28.0 29.75Mhz

KOGYO CO

LTD

~No ok WwN B

3  5mm

38mmuU

HX 330

4% 8

38mm

M5x 35

14 21 28Mhz

4% 8

M5x 35

M5



A
3
2
A
A
A
A
10 11
A
1
2
3
4
5
2

1 3
3 5mm M5x 40
M5x 35
19mm
2 4
1
2
M5x 40 M5
M5x 35
19mm
5
5
2 38mmuU
1
10 11
B 2
HF
B 2
D
3
1
7
3
B

11

MS

M5x 40

MS

11

38mm

4x 8

MR

9 5
12

mm

9 5mm

60mm



6 0mUF
k(19

oL

EF AL PO A L
F 3

4 X BN 7AA0G5)
Y  T—AB{4) 3 Bmm¥x oy T}

LY

AN HX-—3 3 O S
\

T—hA (1Y

5 IQmligin b
o )

- v - ‘-:%g:!,
ik
o Ty N
4 il —9=(2) . . T g Y
' Y ZL ARk K@/P
= 3 \\‘w
MEDy2T79ie + + ++ ‘\;\\‘
ﬂ HBH5x35t’z{3} :
; .
. = e W 3 f
M5X40ERS) B3y st (PR
e
M50y 77 v La ) T 19mFro7() ' 27 TEMAD
o =% \

<=
[Se¥ Ay L

ML (o)

{ | X2 &  — 'ﬂf ]
A H
TR AL b (26) 2FFTLASH(6) | . U 000 b 59yl
8.4 ﬂ’\_\ ¥ r_; ‘ Ht{ﬂ W M - b d
0y rf 3 / . 1 T .
W1 oL X3 () ] |O! %! ';_8 w
T — . \
EE—7

4 5 A8mUdn k- FRED 6




*EZTEC L < e - T

o B 4 s FEERRER T M| 5

Fwial—%—
Gt B (30}

&SHE 1 L ¢ > T~ {AMTEI

FRIFT A B Ay R 3

15— KR

ﬂ argle
i Jj ! HE =52 (32)

;
|
!
!

T .
a7 2~ XF{ Y AED m | :
13— KRG I

B2 32 PA B o 1 (34)
(43 al—FP—D-£+ G0

I
|
!
= . — 5 A4 o xrEA-EEEFREH] - — 254 B8 XS Y |
—~ 4 3 h ~
" .
P r=ATA AN Fe—T31{ LA
E Pr—X5A J-ﬂ%%'fﬁ 72— X5 4 Vﬁ‘ﬁffb

[ e

Pt Fut
= e B AT ) =y T T s Tawrarasae Tnatt o
i T —
Sl i1l H . 1 1

paSEs - . L
—=4 B |

9. Swat v (23 l 1
+

10 ’ 4 X BT A (35) 4 £ 847 HII(35) 1 2




il

L3

N | }—.

1.4
L BTN ] M .2 M.y EE ) LS

My (iz)]

I A — Y

e

ColdlE A

HERTCLI > TREFEHEILEHNET)

13

WITL AT ()

knaah—mz—J

T —

L— g30 —L— 1007 —J

1930

W2 AV (FF)

THE—

~13¥=EA
i 1 WITL AP ()
k—:za Y E— T i

ma—-

P/N C/N
1] 6903 - (HX-330) 2,480 3
2 1107|HF - - 400 12
3 1257|M5Xx35 35 24
4 1202[ms5 - 20 36
5|  1258|M5x40 35 12
6|  6352|No.1-No.3 15/19x1826 2,360 6
7| 6570[HX-330 #1 () 4,810 2
8|  6571|HX-330 #2 () 4,530 2
9]  6572|HX-330 #3 () 4,530 2
10|  5024] 9.53x538 () 310 2
11]  5009] 9.53x893 () 440 2
12| 5023[ 9.53x983 () 470 2
13  6004] A 381x1826  ( , ) 2,900 1
14 6005 B 38.1x1,826  ( ) 3,000 1
15| 5905 34.92x300 550 1
16  5049|HX-330/33S 9.53x420 190 2
17| 7274[HX-330 1,020mm 310 1
18]  1360[60-38 Mast Clamp SS450(B-1459RD) 1,600 1
19|  7234[5/16x60x115 U 520 2
20]  7229[M6x38x70 U 280 2
21] 1361 (B-1545) 640 3
22| 7231[1/4x38x95 U 310 6
23] 1150] 9.53mm (3/8 SC) 20 8
24| 1167]19.05mm (EC-12) 30 6
25|  1158/38.10mm (1-1/2 SC) 60 2
26]  7281]HX-330 (Max6 ) 720 4
27| 1400[HX-330 - A L=1000mm 440 4
28]  1401|HX-330 - B L=677mm 360 2
29|  1402[HX-330 - C  L=992mm 410 2
30 7041 - -C (M4x30 410 4
31 7280 D (., ) 1,100 2
32| 7275|BL-4K HF 6,100 1
33  7271[BL-4K 120 2
34| 7333BL-4K (U ) 910 1
35|  1296[4x8 ( 20 15
36 490 - 1/12L 1
37 10g 1
38] 9995 300 1
0

7255|NEW 60-38 3,720

7294]BL-4K 60x38  M5x25 1,320

7295|M5x68x83 U ( ) for BL-4K 250

14




